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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)
Draw the block schematic of amplifier with negative
feedback,

What are the effects of negative feedback on distortion
and gain of an amplifier?

Why LC oscillators are preferred over RC oscillators at
radio frequencies?

How frequency stability can be improved in the
oscillators?

Classify tuned amplifiers.

What is the effect of cascading double tuned amplifiers on
bandwidth?

Sketch the response of high pass RC circuit to step input.

What is the maximum triggering frequency of bistable
multivibrator using speed up capacitors?

Mentjon the applications of blocking oscillators.

10. How the linearity of current sweep generators can be

improved?
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PART-B (5x16=80 marks)

Discuss the effect of negative feedback
upon input and output resistances for a
voltage series feedback amplifier.

A voltage-series feedback amplifier has
mid-band voltage gain of 500 and the input
and output resistances are 100€ and
100kQ respectively without feedback. 1f
4% of negative feedback is applied then
calculate the gain, input and output
resistances with feedback.

Or

(b) For the circuit shown in fig.1 below,

M

(i)

Identify topology wused in feedback
amplifier

Show that the veoltage gain with feedback
is given by
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Where R, = R,|| Ry|| R2& Ry = Ry|R;
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Explain basic theory of oscillator and
Barkhausen criterion for sustained
oscillations,

Explain the working of Pierce crystal
oscillator.

Or

Draw the circuit of Hartley oscillator and
explain its working. Derive the expression
far frequency of oscillation.

In a transistorized Hartley oscillator the
two inductances are 2mH and 20uF while
the frequency is to be changed from
950kHz to 2050Hz. Calculate the range
over which the capacitor is to be changed.

Draw and explain the circuit of double
tuned amplifier with the help of frequency
response.

The bandwidth for double tuned amplifier
is 10kHz. Calculate the bandwidth if threc
such stages are cascaded.
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Or

Explain  the Hazeltine method
neutralization,

Mention the advantages, disadvantage
and applications of tuned amplifiers.

Draw the circuit of diode clamper an
explain with suitable waveforms.

Explain how low pass RC circuit can b
used as an integrator?

Or

With the help of circuit diagram, explaix
the working of collector coupled Astabls
multivibrator. Derive the expression fo
frequency of oscillation.

If an Astable multivibrator has C = ¢, =
1000 p¥ and R, = R = 20k(). Calculate the
frequency of oscillation.

Draw and explain the equivalent circuit of
pulse transformer.

Derive an expression for the pulse width of
an emitter timing monostahle blocking
oscillator.

Or
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(i) Draw and explain the operation of UJT
time base generator.

(ii) Explain the basic principle of Miller saw
tooth generator circuit.
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